
Irene placed 2 pennies in each of 3 columns. Use skip counting by 2s to determine the

total amount.

a) 4 cents c) 5 centsb) 3 cents d) 6 cents
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1)

Jake has 8 dimes in his coin jar. How much money does he have in total?2)

a) 70 cents c) 80 centsb) 85 cents d) 90 cents

Olivia has 5 nickels in her wallet. How much money does she have in total?3)

a) 30 cents c) 20 centsb) 25 cents d) 35 cents

Jenna has 40 cents in her handbag. Serena gives 5 more dimes. How much money does

Jenna have?

5)

4)

Jared handed out 2 pennies as change to 6 customers. What was the total amount of

change he gave?

a) 12 cents c) 6 centsb) 10 cents d) 8 cents

Preview

Become a member to unlock 
unrestricted access to both printable 

and online worksheets.

www.tutoringhour.com


